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He makes a place of four and fills up - RD22RY Y2IN 2R WY

Overview
The X3 cited the view of X701 27 and X117 27 12 X217 regarding a ship that if one
wishes to draw water from the river into the ship he is required to first make a place
of four 2°19Y by four 2’1dY and then he is permitted to fill up from the river and bring
it onto the ship. There is a dispute between >"w2 and 190N how to explain 2pn AWW
Nypjalabiiyiimphy
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>'"w9 explained that 7¥27KX 0p» 7w means that he makes small partitions (less than
o°nov " in height) as long as they enclose a space of 2 mov 7"y7.

mooIn disagrees:
= (2,19 97 Py DIANNYN T80 P93 13N RNT PNY 199299 ON 1229 NN N)

And the n''1 and the "' disagree for we learnt a ;73w in 232nnwWn 732 P9 -
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A balcony which is above the water one may not fill up water from this balcony

on naw -
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Unless they made a 57x°n%» which is ten 2190 high, etc. How can >"wn state that the
mx°nn may be less than o now 7!

mooin offers his interpretation:
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Rather '2yp» 72w’ means that the extension (3°7) should be four 2°msw by four

2nov wide -
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U opn 1" 72
2 He makes a hollow square 7"v7 with small sides and places it on the side of the boat and draws water through the
hollow box.
3 The X1 is a >"77 and the @n is a N°7173. One may not carry (3327172) from a n°9n73 to a >"'7n.
4 The house is adjacent to a well or water source and the balcony extends over the well. One may make a hole 7"v7 in
the balcony and erect partitions (either above this hole or) below the hole and lower a pail down into the well through
this opening. This is called a 7?0 nx°nn it is hanging above (but not reaching) the surface of the 212. We consider it
as if it is a *"77 all the ways down into the water.
°> The 127 MmAxT amends this to read, 117 729K D3pn (instead of 117 DPn).
¢ According to m2o1n the case here is the same as in 1217°Y that we need 7wy m¥nn and they said 7va X opn that a
w"> 11 is not sufficient, but rather we require that the m¥°n» encompass an area which is 7"v7.
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In order that the partitions should not be made for a space which is less than
"y —

Mmoo responds to an anticipated difficulty:
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And according to X117 27 who permits here to draw the water even with a @w''> 11,
there is no difficulty from the &723 in 1217y, for he will establish that 71wn there

in a case where the water (from which he is drawing) is not deep ten o°nov, however
by the 71°50 the water is ten o°nov deep —

NN offers an alternate solution:
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Or one may also say; there by the X701 even if it is ten 219w deep we still require
proper mx nn, for we make an injunction out of concern that a sandbank will arise
from the sea and diminish the depth to less than ten 0°15v as we are 913 in the first

»9p of 19217y noon -
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However a ship never travels in water that is less than 219V 'S, so it is not
appropriate to make such an injunction.

Summary
"7 0pn AW means that there are > mx°nn enclosing a 7"v7 1Pn. One can differentiate

whether the water is " Py (where no proper 7%’ is required) or whether it is not
" 1Y (and a proper ¥ is required).

Thinking it over

1. How will 87017 29 and X177 27 72 727 establish the 71wn in 1°217°Y and 171°90 here;
are they both " 1y, both not ™ P12y, or one is and one is not?

2. What is m901n question on >"w7, we can give the same answer as for X117 277?!

7 How can X177 21 rule that a "> 17 is sufficient when the 73wn in 1217°Y requires a full 7%°mn of @nov " (which must
encompass a 7"'v7 2pn?!
8 When the water is not ten 2°nu deep it is considered a n°om73, and as mentioned (footnote # 3) one may not carry
from a n"n7> to a >"71 therefore we require proper My nn. However here the water is at least o°9v " so the water
which is o°r9u " or more above the river bed is considered a wd 0Py, from which one is permitted (721n3%) to carry
into a >"737, so a W"> 17 is sufficient for a Xnbva 737
? See MDOIN in X7R 71"7 2,19 PV who writes, Y3779 Wn? X2 Ayw 93 NaPanT a100 7ax. The ship is always traveling; it
will avoid any 10 w.
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